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[ANALYSIS]

1) We all care what those around us think, and our beliefs about

the world are strongly influenced by our peers.

2) Indeed, when it comes to the crunch, most people would

rather be liked than be right, and they tend to Jadjust their

beliefs to the norms of those around theml

3) This is particularly apparent in the case of fashion, where we

take our cues from other people about what is ‘cool.’

4) We may also think that various forms of questionable

behaviour — such as illegally downloading music or tax
evasion — are acceptable on the grounds that ‘everybody
does it.’

5) However, since we tend to read things that reflect our

prejudices and associate with people who share our attitudes,
we sometimes overestimate the extent to which other people

think as we do.

6) This is known as the false consensus effect.
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1) The source of every new idea is the same.

2) There is a network of neurons in the brain, and then the

network shifts.

3) All of a sudden, electricity flows in an unfamiliar pattern, a

shiver of current across a circuit board of cells.

4) But sometimes a single network isn’t enough.

5) Sometimes a creative problem is so difficult that it requires
people to connect their imaginations together: the answer

arrives only if we collaborate.

6) That's because a group is not just a collection of individual

talents.

7) Instead, it is a chance for those talents to exceed themselves,
to produce something greater than anyone thought possible.

8) When the right people come together and when they

collaborate in the right way, what happens can often feel like

magic.

9) But it's not magic. There is a reason why [some groups are ]

Imore than the sum of their parts.
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1) A puppy will often cry, whine, whimper, or howl when he is

left alone.

2) This is basically his way of calling out for attention, of calling
out to make sure that you know he is there and that you

have not forgotten about him.

3) He feels insecure when he is left alone: for example, when
you are out of the house and he is in his crate, or when you

are in another part of the house and he can not see you.

4) The noise he is making is an expression of the anxiety he
feels at being alone, so he needs to be taught that being

alone is OK.

5) You are not actually training the dog to stop making noise:

you are training him to feel comfortable when he is all by

himself and removing the need to make the noisd.
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1) How do one-way mirrors, the ones used in interrogation

room, work?

2) A one-way mirror seems to be a mirror when seen from one

side, but as a window when seen from the opposite side.

3) Thus the windows is disguised as a mirror to allow secret

surveillance.

4) Physically, fthere is no such thing as a one-way mirror].

5) That is, the amount of light reflected from one side is the

same as that reflected from the other.

6) The light transmitted in one direction is the same as that

transmitted in the opposite direction.

7) How then does a one-way mirror work?

8) First, the mirror isn't totally reflecting.

9) It transmits half the light and reflects the other half.

10) The second requirement has to do with lighting.

11) It is essential that the observation room remain dark,

because if a lamp were turned on, some of that light would

pass through into the interrogation room as well.
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[ANALYSIS]

1) In an experiment in Germany, part of a fleet of taxicabs in
Munich was equipped with antilock brake systems (ABS), a

technological innovation that vastly improves braking.

2) The rest of the fleet was left unequipped, and the two groups
were placed under careful and secret observation for three

years.

3) You would expect the better brakes to make for safer driving.

4) (A)However, that is exactly the opposite of what happened.

5) Giving some drivers ABS made no difference at all in their
accident rate; in fact, it turned them into markedly inferior

drivers.

6) They drove faster. They made sharper turns. They braked

harder.

7) (B)In other words, the ABS systems were not used to reduce
accidents; instead, the drivers used the additional element of
safety to enable them to drive faster and more recklessly

without increasing their risk of getting into an accident.
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Practice 1.

1) When emotions are highly charged, it makes good sense to
delay conversation about conflict until attention, mental focus,

and goodwill have returned.

2) Once everyone is calm and enjoying themselves again,
however, these conversations are often forgotten or put off

indefinitely.

3) No one wants to talk about conflict and risk spoiling the good

time.

4) As a consequence, the issues often don't get addressed at all,
and they usually resurface later in a new and often intensified

conflict.

5) If you do choose to put off discussion about a conflict,
remember to take it up later, during a time of ease and sweet

connection, when it can be most productive.
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1) In the case of China and Eastern Europe, it is clear that

market liberalization has helped a lot.

2) Until about 1998, the East European privatization process and

the implementation of a market economy progressed in fits

and starts due to all sorts of political maneuvers.

3) But by 1998 the region was characterized by a strong private

sector and relatively free markets.

4) This triggered an economic boom.

5) (A)Nevertheless, this cannot be the whole story.

6) Latin America is also free but - except some short-lived

episodes ~ has been historically characterized by slow

economic growth.

7) In addition, that region has a relatively high birth rate.

8) (B)As a result, its wealth-per-person growth was remarkably

slow from 1998 to 2008.

9) This is true of all Latin American countries, including Brazil,

despite the enthusiastic media reports about that country.
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1) Man and women are often assigned roles for various social,

political, or historical reason.

2) When these factors are inadequately understood, they can

appear to be quite arbitrary.

3) (A)For example, although sewing clothes for the family is
thought of as women's work in North America (most men
have never operated a sewing machine or made a purchase in
a fabric store), among the Ecuadorian men and traditional

Hopi of Arizona, men are the spinners, weavers, and tailors.

4) Also among the Hopi, women are the potters and not the
men; however, in U.S culture both men and women can

become potters.

5) (B)Moreover, women in U.S. society have been virtually
excluded from a number of occupations (such as jockey and
Major League Baseball umpire), even though men have no
particular biological advantage over women in performing

these jobs.
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[ANALYSIS]

1) Newton’'s laws of motion apply perfectly to the world of golf.

2) We are all aware that a golf ball moves when it is hit by

force.

3) However, there are outside forces that keep a golf ball from

moving in its original direction forever.

4) A ball may have a straight path when the club hits it, but

then gravity pulls the ball toward earth and can keep it from

going straight.

5) Air resistance - a form of friction - then slows the ball’s

velocity as it speeds through the air.

7) Once a golf ball connects with the ground again, it slows
down even more because a grassy and sandy surface creates

more friction with the ball than air.
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1) Prior to the modern era, the Chinese actor, whether rural
amateur or urban professional, rarely enjoyed the respect that

society pays him or her today.

2) Until recently, in fact, a theater practitioner could hardly earn
his living with one stationary troupe.

3) He often became an itinerant performer, travelling among

small towns and rural villages to perform during festivals or

to celebrate important occasions in the lives of the local

gentry.

5) Most individual actors were at least part-time itinerants,
contributing to the image of the vagabond good-for-nothing

that afflicted his profession for centuries.

6) In the imperial period, entire urban troupes might tour the

countryside at harvest, New Year, and other festival times.
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1) Every great thing that was ever started began in uncertainty.

2) Thomas Alva Edison asked “Will this work?” and now we

experience the gift of the lightbulb.

3) Steve Jobs pondered, “Is there a need for this?” and we have

minicomputers that fit in our pockets.

4) In order to bring our ideas or dreams to life, we have to

expect fear and uncertainty, welcome it in, and know that

once we face it, it no longer has a hold on us.

6) We must remind ourselves that there are two possible ends to
every uncertain journey we embark upon: either we learn a
lesson that brings us one step closer to our true desires or

we reach the point we set out for.
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1) As we grow older, the eye lens becomes more yellow, causing
poorer color discrimination in the green-blue-violet end of the

spectrum.

2) Also, the lens’s ability to adjust and focus declines as the

muscles around it stiffen.

3) This is what causes difficulty in seeing close objects clearly
(called presbyopia), necessitating either longer arms or

corrective lenses.

4) To complicate matters further, the time our eyes need to

change focus from near to far (or vice versa) increases.

5) This also poses a major problem in driving.

7) Because drivers are constantly changing their focus from the
instrument panel to other autos and signs on the highway,
older drivers may miss important information because of their

slower refocusing time.
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